1.

£90] Yol & m? %] FoHALL.

~2m-~

=

B

2m = 200 cm

| AFZE 9] wol: 200 x 350 = 70000( cm?)
10000 cm? = 1 m?

70000 cm? = 7m?
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HE'D 3500ha

7km X 5km = 35km? = 3500 ha
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@ 4.9a=490ha
(@)0.54 ha = 5400 m?

O 25km? = 2500a
® 6800000 m? = 680 a

® 370a = 3.7m?

B

1km? = 100 ha = 10000 a = 1000000 m?
@ 25km? = 250000 a

@ 4.9a = 0.49ha

® 6800000 m? = 68000 a

® 370a = 37000 m?
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® 0.21ha @ 3000 cm x 45 m

® 5800a @ 1.43km?

@1.41 km?
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@©0.21 ha = 2100 m?

@3000cm x 45m = 30m X 45m = 1350 m?
®5800a = 580000 m?

@®1.43km? = 1430000 m?

®1.41 km? = 1410000 m?
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@ 56000000g = 56t

@ 380000g + 0.063t = 443 kg
@3.5t + 820kg = 1170 kg

@ 0.7t 2 70g 2] 10000 HjolTt.

® 380kg + 4200 g = 380.42kg

1t = 1000 kg = 1000000 g
@ 3.5t + 820 kg = 3500 kg + 820 kg = 4320 kg
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@ 30t 7190 kg © 37290kg
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1km? = 1000000 m?2

2FFo] 100m Q1 AAFZFE 9] Yol 1 100 x 100 = 10000 m?
1000000 + 10000 = 100 Hj

kA 100 8 ZFol g,
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O 4a=400m? @ 2000a = 20ha
® 6km? = 6000000 m? @3500000a = 35km?

® 780000 m? = 78 ha

@ 1km? = 10000a ©] B2
3500000 a = (3500000 + 10000) km? = 350 km? I},
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_-1600m- . __

> A 1.05km?

(A421R ) Wol)-(5 471 2] Holol
= 1600 x 1000 — (700 x 1000 =+ 2 + 1000 x 400 = 2)
= 1600000 — (350000 + 200000)

= 1600000 — 550000 = 1050000( m2) = 1.05km?
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TT-500m--" 7

> el 1.75ha
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500 x 280 + 8 = 17500( m?) = 1.75( ha)
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(270 + 180) x 80 + 2 = 18000( m?)
4500( m?)

45a

18000 + 4
4500 m? = 45a
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300m
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m § km 2 1HA WolE Lt
700m = 0.7km, 1200m = 1.2km,
300m = 0.3km

(AterE]Eo] o)

= (0.7+0.3) x 1.2+ 2 = 0.6( km?)
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1.7t = 1700kg
(5 & 4= e F7)= 1700 - (70 x 11 + 55 x 8)
= 1700 — 1210 = 490( kg)

490 + 40 = 12---10
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4EF D 4660000 cm?

(=89 Hol)= (92 Wol)+(©2 Hol)
=26%x30+2+9%x8+2

=390 + 76 = 466 m?

= 4660000 cm?
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54.4ha = 5440a = 544000 m? ©]BL.&,
(BAAEF 2] Hol)=800 x| | = 544000

[ ]= 544000 + 800 = 680( m)




o7k 15ha ¢l o]

17.

]

o

o

Y
T

T

P23

<A

i
o

o

b= o
Mo
AT
= It
X X
CI
-
N
<E
o
K- TR
M oor
A
5 ol

o < <A

H

25000 m?

P

ul
K0

.I

>

o gel)

].
= 5(ha)

il
ol
e

A

]

(o

— ™

= 15X

= 7.5(ha)
o] o)

=15 (5+7.5) = 2.5( ha)

2.5 ha = 25000 m?

o <

=(15-5) x

]_

Gl

3

<A
E_E

(2]




ol ©

mo -

= K

=0 O_L

Mo mo

71_|1_

0

o]

= Mo

iyl

T

B3

m_mo ,mwo hnd

w <

T %

O_L,al

o

O

oW

w2 -
T % <
KOS ..
Poro @
T e < %0
NF = T

0_1_ m_mo_,T _’ D



19.

o 2
o g2 A Bl GAleA Hgo] thiro] Felx gt
Uiro] 2 e 2 a 917 T2,

.
= a

2017} Z+2F 1200 m, 1500 m ©] 2L, 307} 2km ¢ Afr}2]
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(Arehe] & meke] o yol)

= (1200 + 1500) x 2000 + 2 = 2700000( m?)
g Gl A Yol = wrel Heol)

= 2700000 + 3 = 900000 m? = 9000 a
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2t = 2000 kg = 2000000 g
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5000 x 1.05 = 5250( kg) = 5.25(t) YUk,




